Homework Day 2 Solutions - ECON 186

Problem 1. Chiang and Wainwright 4.2 #1,2, 4, 6
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a) Yes it is defined.
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No, BA does not exist because the product is not conformable.

b) Both are defined, but they are not equal.
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a) Ty + T3+ T4 + T35

b) asxs + agre + arry + agxs

) b(xy+ o + 23 + 14)

d) a12° + agx' + ... + a2 = ay + avxr + azz® + ..+ apa?
e) 22+ (x+1)° + (x +2)° + (z + 3)°

Problem 2. Chiang and Wainwright 4.3 #1(a, b, d), 2
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a) All are defined except w'z and z'y'.
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Problem 3. Chiang and Wainwright 4.4 #1
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(A+B)+C=A+(B+C) = [ _91 _91]

Problem 4. Chiang and Wainwright 4.5 #1
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Problem 5. Chiang and Wainwright 4.6 #1, 2
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